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CTET Paper 2 - 24 December (Memory Based)

CTET Paper 2 : CDP

It plays a significant role in development of personality.
Ans: Both Heredity and Environment

Moral education is important for the students because
Ans: So. [t is necessary for the development of the character
It motivates the students

At what stage children develop abstract logic and reasoning

Ans: Formal operational stage

[t is not a part of pre-operational stage
Ans: Conservation

According to Vygotsky ,social interaction of a children begins at
Ans: Infancy

CALP stands for
Ans: Cognitive Academic Language Proficiency

Learning disability in motor skills
Ans: Dyspraxia

The diagonals of a rhombus are 64 cm and 48 cm The height of the rhombus is

Ans: 38.4 cm

m = 3x +4y
n=3x+5y, find m-n
Ans:= (-y)

A girl sells two articles at Rs. 2064 each. She gains 20% on one article and loses 20% on the other.

CTET Paper 2 : Mathematics

Find his overall gain or loss percentage.
Ans: 4%
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length and breadth of a rectangle are 12 cm and 8 cm respectively, find the area of the rectangle?
Ans: 96 cm

Find the median, mode and mean of 9, 5, 8,9,9, 7, 8, 9, 8?

Ans: 8,9, 8

CTET Paper 2 : Science

Which part of the ear helps to detect sound vibrations and convert them to nerve impulses?
Ans: Cochlea

Which part of the frog produces thyroxine?
Ans: the thyroid glands of the frog located between the eyes.

Full form of SAFAR?
Ans: System of Air Quality and Weather Forecasting And Research

Chemical reaction based questions

Questions from Motion

Questions from electricity.

CTET Paper 2 : Social Science

Arrange the planets in nearest to far from the Sun.
Ans: Mercury, Venus, Earth, Mars, Jupiter

Ionosphere is
Ans: The lowest part of the thermosphere

The tomb of a Sufi saint is known as
Ans: Dargarh

Nagar Nigam is also known as
Ans: Municipal corporation

Schedule 8 of the Indian Constitution is related to
Ans: Languages
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Ural Mountain is a mountain range in
Ans: Russia

Which was the main source of income of the Slave Dynasty?
Ans: Land revenue

Meaning of ‘social equality’ in the Indian Constitution is
Ans: Equal opportunities for all sections of the society
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